CGY7TT0ORty T4 o> —}

754¥— = E— EF
2 e Quest Impaction E12S 775
MOTOR CEP) o GP
A vA—2— 2FEFREIF UrsRn—%2— 730 mm
) ] AIL HC701 HC701 HC701 PIT HCO01
Y—KE47
RUD HT700
HOV AIL| 40 % |ELE| 40 % |RUD|100 %
IDL1 AIL| 92 % |ELE| 93 % |RUD| 100 %
EEH/AFRL — b IDL2 AIL| 92 % |ELE| 93 % [RUD|[100 %
IDL3 AIL| 92 % |ELE| 93 % |RUD|100 %
HOLD AIL| 80 % [ELE|100 % |RUD| 90 %
HOV AIL] 0 % |ELE| 0 % |RUD| 0 %
IDL1 AIL | -45 % [ELE|-50 % |RUD|-30 %
EER/EXPL— b IDL2 AIL | -45 % |[ELE|-50 % |RUD|-30 %
IDL3 AIL | -45 % [ELE|-50 % |RUD|-30 %
HOLD AIL|-50 % [ELE|-55 % |RUD|-40 %
HOV AIL | 100 % [ELE| 90 % |RUD| 95 %
IDL1 AIL| 90 % [ELE|100 % |RUD|100 %
4054 IDL2 AIL| 90 % [ELE|100 % |RUD|100 %
IDL3 AIL| 90 % [ELE|100 % |RUD|100 %
HOLD AIL| 90 % [ELE|100 % |RUD|100 %
N HOV 1310 IDL1 1760 IDL2 1780
A—4%—[E#&#H (RPM)
IDL3 1760
Y v{AAVT 4Y3Y C1l| HOV1 |C2| HOV2 |c3| HOV3 |C4|IDLE1,2,3|C5 HOLD
774 MFa—>
R=ZRT4 v Cll140 % [C2/140 % |C3|140 % |C4[120 % |[CH|120 %
CYC. L—F C1|100 d/s|C2[100 d/s|C3|100 d/s|C4|270 d/s|C5[270 d/s
7—%vJE—F C CMT D | or AVCS or Normal
AlL. e/ xL—2 3> 6 pnt
cnt.s 1€ AIL C1| 60 % [C2l 60 % |C3| 60 % [C4] 32 % |CbH| 32 %
cnt.s' 14 ~ELE C1| 60 % |C2| 60 % |C3| 60 % |C4| 36 % |CHh| 36 %
IFRERVI ¥ Cll-20 % [C2|-20 % |C3|-20 % |C4[-20 % [CH|-20 %
LRRVRRZAIL C1l| 12 n [C2| 12 n |C3| 12 n [C4| 12 n |Ch| 12 n
RAREVTA T4 Cl C2 C3 C4 C5
ELE.;FE4 .11 Cl 0 % [C2] 0 % [C3| 0 % [C4] 0 % |CH| 0 %
ELE. "4 .0— Cl| 0 % [C2] 0 % [C3| 0 % [C4] 0 % |CH| 0 %
NEYFTAY 0 %




SWHR—>v 7o

Yy b7y TREAN C_F3C D | or 3D or | L.SCALE
JxyA4nky b rvay 11
St a4 AN:70Hz or DG:95H z or | DG:140H z
—R 7
DG:285Hz | or [ DG:760us | or ((CUR mode)
(_H3-120)
H1 or H3-120 or H3-140
A7y RAT
H3-90 or H4-00 or H4-45
H—K Fod4 6
AILY—FK =a—F5n 0
ELEH—FR Z—a2a—FF 0 0
PITH—FR =a—FF0 0
SWS.F ¥R~ AIL C +D Jor -
SWS.Fo¥75k~va7v ELE C + D or -
SWS.FoH¥5r7a7 PIT + or|[C =D
SWS.L—F C1| 50 % [C2| 50 % |C3| 50 % |C4| 58 % |C5H| 58 %
PIT.L—F C1| 50 % [C2| 50 % |C3| 50 % [C4| 50 % |C5H| 50 %
SWS.)» 4 C1{130 % [(C2|/130 % |C3|130 % |C4[130 % [C5H|130 %
AL ¥ £ 0. K94 C/7==2n Dl or | Yn=2
ELEX ¥4 RA.FoY /== ) or )R—2X
STK.F4 AIL Rt
STK.F¥4 ELE Up
EyF A 1100
vyF +£nA 1520
EyF A-— 1939
A—F—Yav.4a54%— w or OFF
AA54Y—, FoH J ==L or ﬁ\%
\_/
PIT.L—F C1| 50 % |C2| 50 % |C3| 50 % |C4| 50 % |C5H| 50 %
Cond. 71 L — Cl 0 C2l 0 C3] 0 C4] 0 C5H 0




S.BUSKR—> v 7

AlL CH1 4 »RUD CH6
ELE CH2 74 AlL CHY
THR CH3 4~ ELE CH10
RUD CH4 #i/3Frpm CH7
PIT CH5 H73FSW CHS8
Cond CH16
FL—F—44142 #1| CH13 |#2| CH14
INH or
ELE2 ;R— b C >
AN:70Hz or | DG:285H z or | DG:760us | or | UR mode
INH or CH
AUX.CH C_INHD
AN:70Hz or | DG:285H z or | DG:760us | or | UR mode
RUDR—T v &
H—F 247 DG:760 or | DG:1520 | or Analog | or [(UR mode)
x4 KoYy /== or IRALD 3
YP—FRKYIyh 120 %
YP—RKYIyh 108 %
774 E—F Sports or < 3D >
7—%vJ€—F CMT or AVCS or Normal
HNRNF—=R=2 v 7
$sF— C INH Y or ACT
FyYLo# t
R=ILF o N— p
Y—K 247 Analog or DG:1520
rom v b 1 romr 2 rpm rpm
RTAYIRAYF INH or ON %
ON/OFF R4 v ¥F INH or ON NORM | or ON REV
NyTFTY— F/S INH ACT %
Uiy by b 740 £y T4
DIy bty b g v T4
DIy bk TREF
LRAKRYR IF |or| EFF—F |or| WALV |or| 2497
HRF—=54> Cl % |C2 % [C3 % |C4 % |CH %
a-UYIybFENYrs  Cl % |C2 % |C3 % |C4 % |C5 %
A—-Yyb7A4FL7y7 C1l % |C2 % [C3 % |C4 % |CH %
S.BUS2 rpm 77 b INH |or| ACT
S.BUS2 rpm XA v k n




AlLTF R/8—}

P54 v Cl 0 % [C2] 0 % |C3| 0 % [C4] 0 % |C5| 0 %
([ 2 9% C1l{100 % [C2/100 % |C3/90 % |C4| 90 % [C5|/ 90 %
D.754 v Cl 0 % [C2] 0 % [C3| 0 % [C4] 0 % |C5| 0 %
Ay FLREVR Cl 9 C2[ 9 C3l 9 C4| 1 Ch| 1
7hva4 2
AlL.xtvA4 7v7 0 %
AlL.xtEA4 &KoV 0 %
72Vy7 w4 77 0 %
72Uy 7 kL4 Xov 0 %
oY —E—F Std |or| S1 |or| S2 |or{_ S3 )
ELE. T X/N—
P54 > Cl{60 % [C2/60 % |C3/60 % |C4 60 % [C5 60 %
| .74 C1l{100 % [C2/100 % |C3/90 % |C4| 80 % [C5 80 %
D.754 v Cl{ 80 % [C2/ 80 % |C3/8 % |C4 90 % [C5/90 %
Ay FLREVR Cll 1 C2l 1 C3l 1 C4fl 1 Ch5l 1
7hva4 4
A—JL k€4 L7F 0 %
A—JL kA4 F4F 0 %
oY —F—F Std or S1 or S2 or|[C_S3 |
HNF—TXR/N—}
77— J€—F HNF— or RevY I v b
HATFVRY kagy A—2— or ITVTV
F/F. ¥4 Vv ¥ %
OFF or CWamwxy or CWAA XY
Yaw. ="t A
CCWoamwxyv or CCWnAL XY
THR.€®—F Y47%h or 74 or TX.h—7
HATVAITY7 FT4L— rpm
HATVRAIZYY T4Lb— rpm
AR—=FF4L— rpm
HINF—FY HATVARY %
BFS.7> 7Y V
YA42aoh47 R 700rpm or 1000rpm




RUD.Z# ZX/¥—}
RUD.Z2—F5 L

ARy A[ 100 %| N | 100 % |
EXP.AVCS -20 %
EXP.NORM -20 %
—
F4L—F—F | 77>9vav ] or [Lavzavy
aryraA—-LFaL—Av 15 n
aryraA—-LFaL—Av 15 n
arvka—-nsF4L—=77F 12 n
arvka-nsF4L—=77F 12 n
Aby7FT4L— 120 %
ELTy PRE—F 450 d
CG.Diy Inc 12 Fr 0
CG.Diy Dec 3 Fr
RUD.EXFY R 9 us
T4 +IvFxvT 0 %
FIRI%vvy OFF or | 7r747
F/EL—F 797 0 %
F/EL—F &ov 0 %
ACC.r41 v %
=a—FF FtA C_ON ) | or OFF
Yaw. X L—H — ¢ ON ™ | or OFF
F—1 LRKEVR —
oY —€—F Std or | S1 | or | S2 | or
SWH, 15—

TxvIL—F F=73aJ7A +737B
PIT—AIL 100 % 100 %
PIT—ELE 100 % 100 %
AIL—PIT 1000 % 100 %
ELE—PIT 50 % 50 %
ELE—AIL 50 % 50 %
AlL A4 0 % 0 %
AIL A— 0 % 0 %

AL Fo¥  _+ O or -
ELE /oM 0 % 0 %
ELE Ao— 0 % 0 %
ELE FoY T+ DO or -
AbE—=F T4 50 %
A7ya A—F—¥3a v 0 N
A—F5—Yav.b5yxFvs 0 %
P ——
7z—X 474 Y~ ON or OFF
PIT &t4 ON or OFF




